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TWO:

b) Explain the features of trade cycle
c) What are the leakages of m

Q2. Answer any TWO:

a) Discuss the Keynesian
b) Explain the cost push
c) What are the indirect

Q3. Answer any TWO:

a) Discuss the
b) Explain the
c) Discuss the

Q4, Answer

a)

b)
c)

(1s)

(rs)

(07)

of payments.

seven)

goods and services produced within a year

of the country annually is called 8s _._____-_____

Product
Product
Product.
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a) Discuss the circular flow of income

Product

rate?

n
(08)



d) all the above

5. The difference between

a) Budget deficit
b) Primary deficit
c) Revenue defi
d) Monerised

6. FRBM Acr

a)

'b)
c)

change in consumption to change in income
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9. According to the modern theory of international trade, trade takes

a) differences in lactor endowments
b) high inf'lation rate

c) domestic exchange rate
d) equal diffbrences in cost.

0. Hedging operations helps the participants to

d) to earn profit.
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